Simulated problem of Math 209 TME2 #3(a),(b)
(a) Use your graphing utility to sketch the graph of 
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Solution:

[image: image1.wmf]3

6116

yxxx

=+++

[image: image10.png]a00

200

200

-a00




b) Use the result of (a) to factor the polynomial 
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Solution:

From the graph of 
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, we know  that the 
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Which means,
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Thus 
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 are factors of  
[image: image9.wmf]32

6116

xxx

+++

.

_1027536079.unknown

_1027536431.unknown

_1032065500.unknown

_1032065546.unknown

_1032065905.unknown

_1032065935.unknown

_1032065665.unknown

_1032065533.unknown

_1032065185.unknown

_1027536219.unknown

_1027536271.unknown

_1027536195.unknown

_1027535543.unknown

_1027535597.unknown

_1027536032.unknown

_1027535408.unknown

_1027535447.unknown

_1027535506.unknown

_1027535298.unknown

